3. $\times NN(N, 2^2) = > 1 \times 10^{-10} \times 10^{-10$ $g(x) = S(0) e^{x} \frac{g(x)}{g(x)} = S(0) e^{x} \frac{g(x)}{g(x)} = S(0) e^{x} f(x) dx$ = $50 \frac{1}{\sqrt{2\pi}'^2} \int_{0}^{\infty} e^{-\frac{(\chi - \mu)^2}{2^2}} + \chi d\chi =$ $= S_0 \frac{1}{\sqrt{2\pi^2 2}} \int_{0}^{\infty} e^{-\frac{(x^2 - 2ux + u^2) + 22^2x}{22^2}} dx =$ $= S_0 \frac{1}{\sqrt{2\pi^2}} \int_{0}^{\infty} e^{-\left[\left[X - \left(\mu + 2^2\right)\right]^2 - 2\mu^2 - 2^4\right]} dx =$ $= S_0 \frac{1}{\sqrt{2\pi^2} z} \int_{0}^{\infty} e^{-\left[x - (\mu + z^2)\right]^2} + \frac{2\mu + z^2}{2} dx =$ $= S_0 \cdot e^{\frac{2\mu+2^2}{2}} \cdot \frac{1}{\sqrt{2\pi^2}} \int_{\mathbb{R}^2} e^{-\frac{\left[x-\frac{\mu+2^2}{2}\right]^2}{2z^2}} dx$ = So. e 4 + 32 :5071 22=52t -1 M=/r-752)t 2/3/0/11 $E\left[S_{\ell}\right] = S_{\delta} \cdot e^{-\left(r - \frac{1}{2}s^{2}\right)t} + \frac{s^{2}t}{2} = S_{\delta} \cdot e^{-rt}$

9(x) = . So CX : 1880 /2//cp, 2/25) $V[g(x)] = E[g(x)]^2 - E^2[g(x)] = \frac{1}{2} [g(x)] + \frac{1}$ $E(g(x))^2 = \int_{-\infty}^{\infty} (g(x))^2 f(x) dx =$ $= S_0^2 \frac{1}{\sqrt{2\pi^2} z} \int_0^{\infty} e^{\frac{2x}{\lambda}} e^{-\frac{(x-\mu)^2}{2z^2}} dx = \frac{S_0^2}{\sqrt{2\pi} z} \int_0^{\infty} e^{-\frac{(x-\mu)^2}{2z^2}} dx = \frac{S_0^2}{2z^2} dx = \frac{S_0^2}{2z^2} = \frac{1}{2} \frac{1}{z^2} = \frac{1}{z^2} \frac{1}{z$ $= \frac{S_0^2}{\sqrt{2\pi^2 \xi}} \left(e^{-\frac{(\chi^2 - 2\mu x + \mu^2 - 4\xi^2 x)}{2\xi^2}} \right) = \frac{1}{2\xi^2} \left(e^{-\frac{(\chi^2 - 2\mu x + \mu^2 - 4\xi^2 x)}{2\xi^2}} \right)$ $= \frac{S_0^2}{\sqrt{2}\pi^2} 2 \int_{-\infty}^{\infty} e^{-\frac{\left[\left(X - (\mu + 2 \ell^2)\right)^2 - 4 \ell^2 \mu - 4 \ell^4\right]}{2 \ell^2}} dx =$ $= \int_{0}^{2} \frac{1}{\sqrt{2\pi/2}} \left(e^{-\frac{\left(x - \left(y + 2 \right)^{2} \right)^{2}}{2 \cdot 2^{2}}} e^{-\frac{\left(x - \left(y + 2 \right)^{2} \right)^{2}}{2 \cdot 2^{2}}} e^{-\frac{\left(x - \left(y + 2 \right)^{2} \right)^{2}}{2 \cdot 2^{2}}} e^{-\frac{\left(x - \left(y + 2 \right)^{2} \right)^{2}}{2 \cdot 2^{2}}} e^{-\frac{\left(x - \left(y + 2 \right)^{2} \right)^{2}}{2 \cdot 2^{2}}} e^{-\frac{\left(x - \left(y + 2 \right)^{2} \right)^{2}}{2 \cdot 2^{2}}} e^{-\frac{\left(x - \left(y + 2 \right)^{2} \right)^{2}}{2 \cdot 2^{2}}} e^{-\frac{\left(x - \left(y + 2 \right)^{2} \right)^{2}}{2 \cdot 2^{2}}} e^{-\frac{\left(x - \left(y + 2 \right)^{2} \right)^{2}}{2 \cdot 2^{2}}} e^{-\frac{\left(x - \left(y + 2 \right)^{2} \right)^{2}}{2 \cdot 2^{2}}} e^{-\frac{\left(x - \left(y + 2 \right)^{2} \right)^{2}}{2 \cdot 2^{2}}} e^{-\frac{\left(x - \left(y + 2 \right)^{2} \right)^{2}}{2 \cdot 2^{2}}} e^{-\frac{\left(x - \left(y + 2 \right)^{2} \right)^{2}}{2 \cdot 2^{2}}} e^{-\frac{\left(x - \left(y + 2 \right)^{2} \right)^{2}}{2 \cdot 2^{2}}} e^{-\frac{\left(x - \left(y + 2 \right)^{2} \right)^{2}}{2 \cdot 2^{2}}} e^{-\frac{\left(x - \left(y + 2 \right)^{2} \right)^{2}}{2 \cdot 2^{2}}} e^{-\frac{\left(x - \left(y + 2 \right)^{2} \right)^{2}}{2 \cdot 2^{2}}} e^{-\frac{\left(x - \left(y + 2 \right)^{2} \right)^{2}}{2 \cdot 2^{2}}} e^{-\frac{\left(x - \left(y + 2 \right)^{2} \right)^{2}}{2 \cdot 2^{2}}} e^{-\frac{\left(x - \left(y + 2 \right)^{2} \right)^{2}}{2 \cdot 2^{2}}} e^{-\frac{\left(x - \left(y + 2 \right)^{2} \right)^{2}}{2 \cdot 2^{2}}} e^{-\frac{\left(x - \left(y + 2 \right)^{2} \right)^{2}}{2 \cdot 2^{2}}} e^{-\frac{\left(x - \left(y + 2 \right)^{2} \right)^{2}}{2 \cdot 2^{2}}} e^{-\frac{\left(x - \left(y + 2 \right)^{2} \right)^{2}}{2 \cdot 2^{2}}} e^{-\frac{\left(x - \left(y + 2 \right)^{2} \right)^{2}}{2 \cdot 2^{2}}} e^{-\frac{\left(x - \left(y + 2 \right)^{2} \right)^{2}}{2 \cdot 2^{2}}} e^{-\frac{\left(x - \left(y + 2 \right)^{2} \right)^{2}}{2 \cdot 2^{2}}} e^{-\frac{\left(x - \left(y + 2 \right)^{2} \right)^{2}}{2 \cdot 2^{2}}} e^{-\frac{\left(x - \left(y + 2 \right)^{2} \right)^{2}}{2}} e^{-\frac{\left(x - \left(y + 2 \right)^{2} \right)^{2}}{2}} e^{-\frac{\left(x - \left(y + 2 \right)^{2} \right)^{2}}{2}} e^{-\frac{\left(x - \left(y + 2 \right)^{2} \right)^{2}}{2}} e^{-\frac{\left(x - \left(y + 2 \right)^{2} \right)^{2}}{2}} e^{-\frac{\left(x - \left(y + 2 \right)^{2} \right)^{2}}{2}} e^{-\frac{\left(x - \left(y + 2 \right)^{2} \right)^{2}}{2}} e^{-\frac{\left(x - \left(y + 2 \right)^{2} \right)^{2}}{2}} e^{-\frac{\left(x - \left(y + 2 \right)^{2} \right)^{2}}{2}} e^{-\frac{\left(x - \left(y + 2 \right)^{2} \right)^{2}}{2}} e^{-\frac{\left(x - \left(y + 2 \right)^{2}}{2}} e^{-\frac{\left(x - \left(y + 2 \right)^{2} \right)^{2}}{2}} e^{-\frac{\left(x - \left(y + 2 \right)^{2} \right)^{2}}{2}} e^{-\frac{\left(x - \left(y + 2 \right)^{2} \right)^{2}}{2}} e^{-\frac{\left(x - \left(y + 2 \right)^{2} \right)^{2}}{2}} e^{-\frac{\left(x - \left(y + 2 \right)^{2}}{2}} e$ $E(g(x))^{2} = S^{2}(r - \frac{1}{2}s^{2})t + S^{2}t = S^{2}(r - \frac{1}{2}s^{2})^{2} + S^{2}(r - \frac{1}{2}$ =Se 2(++ 1 52)t $V(g(x)) = E(g(x))^2 - E^2(g(x)) = [e^{art+s^2t} - (e^{rt})^2]S_0^2 =$ Seart [es2t-1]

 $\rho(S_t \leq \mu) = \rho(S_0 e^{\times} \leq \mu) = \rho(I_0(S_0 e^{\times}) \leq I_0 \mu) = \rho(S_0 e^{\times}) \leq I_0 \mu$ = $\rho((\ln s_0 + x) \leq \ln \mu) = \rho(x \leq \ln \mu - \ln s_0) =$ $= p\left(X \leq \ln\left(\frac{\mu}{S_0}\right)\right) = p\left[\frac{X - \mu_X}{\zeta_X} \leq \frac{\ln\left(\frac{\mu}{S_0}\right) - \mu_X}{\zeta_X}\right] =$ $= \oint \left[\frac{\ln \left(\frac{\mu}{s_0} \right) - \mu_x}{2 \pi} \right]$